R:\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, FL-20474.1

Sune Rock

Fiberglass Works

(O

SURE ROCK

OPAQUE FIBERGLASS ENTRY DOORS

INSWING / OUTSWING
"NON-IMPACT"

GENERAL NOTES

This product has been evaluated and is in compliance with the éth Edition {2017)
Florida Building Code (FBC) structural requirements excluding the "High Velocity
Hurricane Zone" (HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection, this product is
required o be protected with an impact resistant covering that complies with
FBC Sections 1609.1.2 & R301.2.1.2.

For 2x stud framing construction, anchoring of these units shall be the same as
that shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical Elevations, Design Pressures & General Notes
Door Panel Details

Horizontal & Vertical Cross Sections (2X Buck]
Horizontal & Vertical Cross Sections (1X Buck)
Horizontal & Vertical Cross Sections (Direct fo Masonry)
Vertical Cross Sections (Thresholds)

Buck & Frame Anchoring

Bill of Materials & Components

O[O OB W RO

37.75" MAX. O.A.
FRAME WIDTH

0
o
B
.M
oM
z
=
o
73] -
282
SEg2
_sg(og
3 ]
W 25D
owm o
Y 8glLe
& oxd<f
3 2 25%¢
5 Eg FQo
a £oO 3 L cw
® 3y 592§
0T Daan
2w
t 9
8 c
£ 67 §
3 UV .
g su
8 2o \ng
n
=
52
0 0
o Q—d
[ <€
S8 =
e 5=
o L = b
Luum) o <©
3 %_a_,e?s
35:3 |
U)Lu 172} [7p]
0
LA P
.o L QD
3 e
9 S| &
ol g
o o
« < o
o a

8/03/17 |UPDATE TO 6TH ED. (2017) FBC |LFS

NO. DATE

1

REVISIONS

oatE: 5/17/16

2 g
5 3
z £
b= o
o x
= 3
s 3 e
= = X
< &
o <
¢ O
Py
R 2
5 ©
MAX. DESIGN PRESSURE (PSF) DESIGN PRESSURE (PSF)
CONFIGURATION FRAME INSWING OUTSWING
DIMENSION POSITIVE | NEGATIVE POSITIVE | NEGATIVE
X 37.75"x 81.75" | +90.0 -90.0 +90.0 -90.0

scale:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

See Sheet 2 for Hardware Design Pressure Limitations

DRAWING NO.:
FL-20474.1

sHeeT 1 oF 8

© 2016 R.W. BuiLoing CoNsuLTANTS INC.



R:\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014\\FL-20474.1-3.dwg, 2.1

POLYESTER
RESIN

HINGE STILE
(LVL)

| l—‘ 1.35" *1 |

PVC CAP

.75 —=

012 ——|

05 T F 35" 1.35" j
r

LATCH STILE
(LVL)

POLYESTER
RESIN

PVC CAP

jﬂf 0.12"
0.30"

DOOR SKIN —

0.30" — LOCK BLOCK
PO]L;_{. ?TLEgﬁéSIN 12.5" LONG
/"1 "\ HORIZONTAL CROSS SECTION
\2/
35.75" MAX.
PANEL WIDTH
i 5
I
O
g W
z Q iy
ol -
2 X AT
>
<
=
R SEE HARDWARE
CHART

. DOOR PANEL

FIBERGLASS DOOR SKIN: MiN. 0.080" THK.

CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.)

KWIKSET KNOB: Signature Series .
DEADBOLT:  Signature Series (980) | 7O PSF

SCHLAGE KNOB: F Series (F51) .
DEADBOLT: B Serles (BSON) * 60 PSF

POLYESTER
RESIN ™

TOP RAIL
(LVL)

FOAM CORE

175" —]

-~ 145" —

/.,,

BOTTOM RAIL— [

)—*—— 0.30"

(LVL)

POLYESTER
RESIN

‘«— 145" —=

/ 2"\ VERTICAL CROSS SECTION

\2/

9]
[¢)]
0
)
oM
z
_"'J[\
o
(93] - T
Z o2
2 <E8o
7, . J ow®
/, LETYY PP \\ 3>n-m
7 QD N (7 B,
’I, \\\ Z0wm0
Thrgnnts R
3
r\-oﬁ OSZQ:-
4 £ Zm O
\ 15 fo aloe
v Ja £O o . ew
Mg 83 59025
C‘b & ¢ mDoobL
2o
c 0
9 C
£ 6% §
3 0 .
N
8 2o
(%)
) =
& =
» O Ly
30 o
OQ cap oeed
Q:U) Z_J ]
wy o £
<<
3 I3l o
O 1o
e [§ x
Wl ©
R e 8
o
2 o
S &
& &
2=
43
B
w
~
Q
N
|2
o
(o
%]
z 2
© @
@
2
i
o
a
3
i~
w
B
O
o)
~lo
z
oATE: 5/17/16
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL—-20474.1
sHEET 2 ofF _ 8

© 2016 R.W. BUILDING CONSULTANTS INC.




AN SANVLAINSNDOD aNianing

MY 9Loeg §

/

€186 'ON V'O 3d44d SNOISIAGY
g oy | 0908 ) suougas ceon g g Tl el | | 3ol
§6Ses 14 "O9UIPA ‘OgZ xo8 'O'd § S41] 084 (£10z) 03 H9 Ol 31vadn|zi/c0/8 [ 1 ¥ |% 2] ¥
“ONI ‘SINVLINSNOD ONIGTING Ky KINISSY 90 Luvd N Lot B el B
o~N
\\\\ B0¥SY ON 3I'd SH00J SSY10d3414 B HElE m n 3_
/;W\\\\ IPIWYDS "4 UOpuAT] MO0H FdNS w8l ¢|B T &
“.:Ag pesodsid sjuswnoog 10Na0dd m ) W 5 W &
R A .
* TiXDorc
DA O
&Q.Wm..‘.m.m u.W\/ ////
(7] szom ////
gy
Za
S
Yo
o
S
@
e ®
R o
. o)
_ : ?® 3
o = W\Im; \ Ol
C - =IE ﬂ 5
R AAR T....\Iu =3
. z2 Y SlE
¥ < vy M a m
e ) mﬂln.\ m =
< . oc [l O 2=
i : 2z O3 = Q I
. v — .m w jow} M 2z
) <|5 Z % (2
o ole i 25
v . el B o [9)]
T . |~ M ralg
< v Y &3
>0 olE
mlw o (@)
® 3 (P
= ™™
o L
D
Ladll 2
0|0 A
—
! 0N < X
4 @

1€ 'BMP'E-T'vL02-1A\FT0Z) bLy0Z-14\sBumelIq - D\pLp0zZ-Td\s|eroiddy 1DNPoid epLOY - VALNINYINYId %04 8ins WH\SIUBID\Y



TON| SINVLAINSNDOD anNiaTing

‘MY 8102 )

INTERIOR

A\

W Outswing shown {Inswing similar)

/"1 "\ VERTICAL CROSS SECTION

EXTERIOR

m HORIZONTAL CROSS SECTION

INTERIOR
EXTERIOR

JEEl 441
\/\

1-1/4" MIN.
EMB. (TYP.)

\4_/ Outswing shown {Inswing similar)

T186 ON VO 3dg4d SNOISIATY
L616°6S9°CL8 'ON 8uoud (1ong X1) SNOILOIS SSO¥O T8 33 ToNl o -
S6SEE 14 ‘09MIPA ‘ST Xo8 "O'd \§ WOLLE3A % WINOZISOH S37| 084 (Z102) ‘03 HI9 OL 3ivadn|Zi/co/e | | |—|uix || ¥ 8_
‘ONI ‘SINVLINSNOD 9NIQTHNG gﬂ A18WNISSY ¥0 L¥vd W T. e . _M. &
Yz g & <]
60%CH "ON "I'd S400d SSV10d381d '9) Elsle |
WPILYSS 4 UOPUA] Y0048 3¥NS alilslolE e
", D\\&m paupdelg sjuawunoog -10NQo¥d W w H W m M
] <S.p
“\\ s ... IIII \
o~ cooo noo. >~
\\\\s Iom a////
Iy
Zao
zE
<
-—

Ty BMPE-TLr0Z-T\PI02) PLy0T-14\sBUMeIq - D\p/10Z-T4\sieroiddy 1onpOid epuold - YALNINVINYId dP0d 3Ins NH\SIUAID\Y




TANG SANVLINSNGD SNIaTINg M s102 @

£186 ON V'O Id8d SNOISIAZS
L6L6°6C9 0L FON SuoUd mw%%ﬁ%&%&é SNOWJ3S g 3190 TOoN] -
S6SC 13 '09UIPA ‘0£Z X08 ‘0'd § A3 % WINOZWOH = 1—=a17167) "3 Al oL 3ivaan|Zi/c0/8 | L |<| v x| ¥ 8_
"ONI ‘SINVLINSNOD ONIGTNG NWV ‘X1BW3SSY 40 Lavd NI IR
—| 5 ©
‘2, 60vCY ON I’ SH¥00Q SSV19438l S g lgle )
%, IPILUDS 4 uopuk) A00d 3¥NS Gl CIET g
. Ag paiodaid sjuswnoo(g 11oNnaoYd W m M W W M
1§z Sp
-~ ccn n- o
“, &Q\zmo.W\/ &
%, WHoS W
TN
Zo
SE
T
e LLJ

INTERIOR

A\

7“1\ VERTICAL CROSS SECTION

INTERIOR

\Sj Outswing shown (Inswing similar)

m HORIZONTAL CROSS SECTION
\y Outswing shown (Inswing similar)

)
EXTERIOR

TS ‘BMpe-TvLp0Z-14MPT02) $L0Z-T4\sBuMeIq - D\p/t0zZ-14\steroiddy 19Npoid BPLOLS - VALNINVNYI %P0 2InS WHASIUSHD\Y



TONL SANVLATINSNDOD aNIaTing

‘MM 9102 O

AR N BN

¢1L86 ON VO 3d84 SNOISIAGY

1616°659°CL8 ON SuouY (SATOHSIYHL) SNOLLO3S e VT ToN _
S6SEL T4 ‘OdHIPA ‘0¢Z x08 O'd § SSOHO TVILLA3A S41| 084 (£102) ‘03 HI9 OL 3vadn|Zi/co/8 | ¢ |<|wlx | ¥ 8_
"ONI ‘SINVLINSNOD ONIaTng K TXGWASSY 80 1avd NISNE LS
NG 2§ o

60YCY ON ‘3I'd S¥H004 SSY19434i14 T8) A
IPILYSS 4 UOPUAT X004 34nS MEIRM R
“s \J.\\im paipdelyd sjuawnsog -10NnQ0¥d W w W 5 m i

A\

INTERIOR

\\

EXTERIOR

EXTERIOR

INTERIOR
4

m VERTICAL CROSS SECTION

w Outswing Threshold

/" 1"\ VERTICAL CROSS SECTION

\U Inswing Threshold

19 ‘BMPE-T'vLP0Z-TA\PTOZ) vLP0Z-1\sBUmMRIQ - D\PLp0Z-Td\sierciddy 10npoid eplotd - Y\LNINYINYId %00y 3.ns WH\SIUSID\Y



4" (TYP.) Al
7

4" (TYP.) —-»‘
ot/

16" MAX.
0.C. (TYP)

2X BUCK
(TYp) HEAD( r% PJ,;\MBS | _
\ ' HEAD & JAMBS
(TYP.)
s H—
MASONRY T
(TYP.) B 1
3{| | DESIGN PRESSURE % ?é ~~~41 | DESIGN PRESSURE
= UPTO m== UPTO
R +/- 90 PSF MAX. = 8 +/- 60 PSF MAX.

< \
LN Al
e s ]
)

X X
2X BUCK ANCHORING

2X BUCK ANCHORING

CONCRETE ANCHOR NOTES:

1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joinfs.

2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

3. Concrete anchor table:

ITW " " 1 "
APCON® | 1/4 1-1/4 2 4
ELCO ) ; . ;
uurracon®| 14 1-1/4 ! 4
W ] ; ; ;
aneon® | 36 1-1/4 3 1-1/2

WOOD SCREW INSTALLATION NOTES:
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" 0.c. spacing of
wood screws to prevent the splitting of wood.

o 2X BUCK

lX BUCK

DIRECTTO =T

MASONRY
JAMBS

(TYP.) ~—

X

FRAME ANCHORING
DIRECT TO
MASONRY
N 1X BUCK
] 2X BUCK
\\ /<
A\Y
A\
2X BUCK @ :;
1X BUCK \
DIRECTTO
MASONRY

LATCH AND DEADBOLT STRIKE PLATE DETAILS

14 MAX
0.C. [TYP.)

/ \
olfn HE .

STRIKE JAMB

28.5"0.C. . . 11.25"FROM
‘ {TYP.) ‘ I TOP OF FRAME
sl £
DA 7 D

i
1

Ca®y

g

T 111

HINGE JAMB

@

HINGE DETAIL

DIRECTTO
MASONRY

IXBUCK

2X BUCK

7/,

4%
7,

. //

ROXZ 0
%z 0
o.», N
. :.Q
. __o
g Jz¢
. —= N
&= Lo
- wn -
.’Q:;—- om
OO 2 2am
oS 55585

'&\\ 321903

\\\ 4] -:r_)'

W ggag
O N
g

] o xz<%
Eg Z28,°
Lo 3 . cw
8% 39088
) em
R Dok
LL-

0
c
6% §

o .
cu
2o \ng

O

=

o
@2 e}
S S
jola

O ] <
< o =
Qc 3 o
=50 W

i

3 |2
o < 3

D e

S 8| S

Il pu}

e g °®

& &

BY

8/03/17 |UPDATE TO 6TH ED. (2017) FBC [LFS

1

NOJ DATE

oatE: 5/17/16

sCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-20474.1

sHEET 7/ oF 8

RA\Clients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 7.1

REVISIONS

© zo16 R.W. BuiLbing ConsuLTAaNTSs INC.



RAClients\HM Sure Rock PERMANENT\A - Florida Product Approvals\FL-20474\C - Drawings\FL-20474 (2014)\FL-20474.1-3.dwg, 8.1

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL

A |1XBUCK (SG >= 0.42) WOOD

B | 2X BUCK (SG >= 0.42) WOOD
C | 1/4" MAX. SHIM SPACE ;

D |1/4" X 2-3/4 PFH ELCO OR TW CONCRETE SCREW STEEL

c | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI 301 OR CONCRETE

HOLLOW BLOCK CONFORMING TO ASTM C90

G | 3/16" X 3-1/4" PFH ITW CONCRETE SCREW STEEL

7 |1/4"X 3-3/4" PFH ELCO OR ITW CONCRETE SCREW STEEL

L | #10 X 2-1/2° PFH WOOD SCREW (1.15" MIN. EMBEDMENT) STEEL

M | 3/16" X 2-1/4" PFH TW CONCRETE SCREW STEEL

1| FRAME [SURE JAMB) COMP

& | WEATHERSTRIP (Q-LON] FOAM

8 | SWEEP VINYL

13| INSWING THRESHOLD ALUM/COMP
14 | OUTSWING THRESHOLD ALUM/COMP
23 | #10x 3/4" PFH WOOD SCREW STEEL
24 | #10x 1" PFH WOOD SCREW STEEL
25 | #8x 2-1/2" PFH WOOD SCREW STEEL
27 | LATCH STRIKE PLATE STEEL
28 | DEADBOLT STRIKE PLATE STEEL
29 | 4" X 4" HINGE STEEL
40 | DOOR PANEL 3

0.75"

i 4.6" i

FRAME
Sure Jamb

]

13 ) INSWING THRESHOLD
ENDURA (Z-SERIES)

L-——— 1.5 ——

14 OUTSWING THRESHOLD

ENDURA (Z-SERIES)

F2,>
Documents Prepared By

813.658.9197

)
P.O0. Box 230, Valrico, FL 335895

- U
BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE C.A. No. 9813

SURE ROCK
FIBERGLASS DOORS
PART OR ASSEMBLY:

PRODUCT:

BILL OF MATERIALS
& COMPONENTS

BY

8/03/17 |UPDATE TO 6TH ED. (2017) FBC | LFS

NOJj DATE

~—

REVISIONS

oATE: 5/17/16

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
FL-20474.1

sHEer 8 oF 8

© 2016 R.W. BUILDING CONSULTANTS ING.



